

# **ON THE EXACT SOLUTION OF THE FUNCTIONAL DIFFERENTIAL EQUATION** y'(t) = ay(t) + by(-t)

### Abdelhalim Ebaid<sup>\*</sup> and Hind K. Al-Jeaid

Department of Mathematics Faculty of Science University of Tabuk P.O. Box 741, Tabuk 71491 Kingdom of Saudi Arabia e-mail: aebaid@ut.edu.sa halimgamil@yahoo.com

Department of Mathematical Sciences Umm Al-Qura University Makkah, Kingdom of Saudi Arabia e-mail: hkjeaid@uqu.edu.sa

### Abstract

This paper focuses on obtaining the exact solution of the functional differential equation: y'(t) = ay(t) + by(-t) subject to the initial

Received: November 5, 2021; Accepted: December 2, 2021

2020 Mathematics Subject Classification: 34A99, 34A30.

Keywords and phrases: functional differential equation, exact solution, series solution. \*Corresponding author

How to cite this article: Abdelhalim Ebaid and Hind K. Al-Jeaid, On the exact solution of the functional differential equation y'(t) = ay(t) + by(-t), Advances in Differential Equations and Control Processes 26 (2022), 39-49.

DOI: 10.17654/0974324322003

This is an open access article under the CC BY license (http://creativecommons.org/licenses/by/4.0/).

Published Online: December 20, 2021

#### Abdelhalim Ebaid and Hind K. Al-Jeaid

condition  $y(0) = \lambda$ . The standard series approach is applied to obtain the solution in a power series form. The convergence issue is addressed. In addition, the exact solution is established in terms of elementary functions such as hyperbolic and trigonometric functions. The exact solutions of some special cases, at particular choices of *a* and *b*, are determined. The obtained results may be introduced for the first time regarding the solution of the current problem.

#### **1. Introduction**

In this paper, we consider a special kind of a delay differential equation (DDE) in the form:

$$y'(t) = ay(t) + by(-t), \quad y(0) = \lambda,$$
 (1)

where  $a, b, \lambda \in \mathbb{R}$ . The initial value problem (IVP) (1) is a special case of the pantograph delay equation [1-10]. The pantograph is a particular device which collects the current in electric trains. In fact, the IVP (1) can be solved via several approaches such as the Adomian decomposition method (ADM) [11], the homotopy perturbation method (HPM) [12], and the Laplace transform method [13-17]. However, the standard series method is preferred in this work for its simplicity when compared with the above approaches. The standard series method was successfully applied to solve the delay differential equation describing the light absorption in interstellar physics (known as the Ambartsumian model) under different situations [18-20]. So, the objective of this work is to extend the application of the standard series method to deal with the present model. The convergence issue will be addressed. In addition, it will be shown that the power series solution has other equivalent forms in terms of elementary functions such as the hyperbolic functions, the Mittag-Leffler functions, and the trigonometric functions.

Also, the IVP (1) enjoys several interesting special cases of the constants a and b such as a = 0, a + b = 0, and a - b = 0. The exact solutions of such special cases will also be constructed in a direct manner. Moreover, the special case b = 0 is not considered here. This is because it is a trivial case

in which the corresponding exact solution is already well known as  $y(t) = \lambda e^{at}$ .

### 2. The Standard Series Method

Here, we apply the standard series method in the form:

$$y(t) = \sum_{n=0}^{\infty} \omega_n t^n,$$
(2)

to search for a solution of equation (1). Substituting (2) into (1), we have

$$\sum_{n=1}^{\infty} n\omega_n t^{n-1} = a \sum_{n=0}^{\infty} \omega_n t^n + b \sum_{n=0}^{\infty} \omega_n (-1)^n t^n,$$
(3)

i.e.,

$$\sum_{n=0}^{\infty} (n+1)\omega_{n+1}t^n = \sum_{n=0}^{\infty} (a+(-1)^n b)\omega_n t^n.$$
 (4)

Thus

$$\sum_{n=0}^{\infty} [(n+1)\omega_{n+1} - (a+(-1)^n b)\omega_n]t^n = 0,$$
(5)

which leads to

$$(n+1)\omega_{n+1} - (a+(-1)^n b)\omega_n = 0.$$
 (6)

Therefore,

$$\omega_{n+1} = \left[\frac{a+(-1)^n b}{n+1}\right]\omega_n, \quad n \ge 0.$$
(7)

Accordingly,

$$\begin{split} \omega_{1} &= \frac{1}{1!}(a+b)\omega_{0}, \\ \omega_{2} &= \frac{1}{2}(a-b)\omega_{1} = \frac{1}{2!}(a^{2}-b^{2})\omega_{0}, \\ \omega_{3} &= \frac{1}{3}(a+b)\omega_{2} = \frac{1}{3!}(a^{2}-b^{2})(a+b)\omega_{0}, \\ \omega_{4} &= \frac{1}{4}(a-b)\omega_{3} = \frac{1}{4!}(a^{2}-b^{2})^{2}\omega_{0}, \\ \omega_{5} &= \frac{1}{5}(a+b)\omega_{4} = \frac{1}{5!}(a^{2}-b^{2})^{2}(a+b)\omega_{0}, \\ \omega_{6} &= \frac{1}{6}(a-b)\omega_{5} = \frac{1}{6!}(a^{2}-b^{2})^{3}\omega_{0}, \\ \omega_{7} &= \frac{1}{7}(a+b)\omega_{6} = \frac{1}{7!}(a^{2}-b^{2})^{3}(a+b)\omega_{0}, \\ \vdots & \end{split}$$
(8)

Applying the initial condition  $y(0) = \lambda$  on the series (3) gives  $\omega_0 = \lambda$ . In view of (8), the coefficients  $\omega_n$  can be compacted in the form

$$\omega_n = \begin{cases} \frac{\lambda}{n!} (a^2 - b^2)^{\frac{n}{2}}, & \text{if } n = 2, 4, 6, \dots \text{ (even)}, \\ \frac{\lambda}{n!} (a + b)^{\frac{n+1}{2}} (a - b)^{\frac{n-1}{2}}, & \text{if } n = 1, 3, 5, \dots \text{ (odd)}. \end{cases}$$
(9)

### 2.1. Convergence

**Theorem 1.** For all  $a, b \in \mathbb{R}$ , the series

$$y(t) = \sum_{n=0}^{\infty} \omega_n t^n,$$
(10)

with the  $\omega_n$  defined by (8) or (9) has an infinite radius of convergence and hence the series converges,  $\forall t \in \mathbb{R}$ .

**Proof.** Assume that is the radius of convergence. Then the ratio test leads to

$$\frac{1}{\rho} = \lim_{n \to \infty} \left| \frac{\omega_{n+1} t^{n+1}}{\omega_n t^n} \right| = \lim_{n \to \infty} \left| \frac{\omega_{n+1}}{\omega_n} \right| |t|$$
$$= \lim_{n \to \infty} \left| \frac{a + (-1)^n b}{n+1} \right| |t|.$$
(11)

The term  $(-1)^n = \pm 1$  according to *n* is even or odd, hence, the limit (11) becomes

$$\frac{1}{\rho} = \lim_{n \to \infty} \left| \frac{a \pm b}{n+1} \right| |t| = 0, \quad \forall a, b, t \in \mathbb{R},$$
(12)

which completes the proof.

### **3. The Exact Solution**

In this section, the solution of the IVP (1) is to be expressed in exact forms in terms of some elementary functions such as the Mittag-Leffler, the hyperbolic, and the trigonometric functions. First of all, the series solution (2) can be written as

$$y(t) = \omega_0 + \sum_{n=1}^{\infty} \omega_n t^n$$
  
=  $\lambda + \sum_{n=1}^{\infty} \omega_{2n-1} t^{2n-1} + \sum_{n=1}^{\infty} \omega_{2n} t^{2n}$ , (13)

where  $\omega_{2n-1}$  and  $\omega_{2n}$  are obtained from (9) as

$$\omega_{2n-1} = \frac{\lambda}{(2n-1)!} (a+b)^n (a-b)^{n-1}, \quad \omega_{2n} = \frac{\lambda}{(2n)!} (a^2 - b^2)^n.$$
(14)

Accordingly, equation (13) becomes

$$y(t) = \lambda \left[ 1 + \sum_{n=1}^{\infty} \frac{t^{2n-1}}{(2n-1)!} (a+b)^n (a-b)^{n-1} + \sum_{n=1}^{\infty} \frac{t^{2n}}{(2n)!} (a^2 - b^2)^n \right],$$
(15)

i.e.,

$$y(t) = \lambda \left[ 1 + \sum_{n=0}^{\infty} \frac{t^{2n+1}}{(2n+1)!} (a+b)^{n+1} (a-b)^n + \sum_{n=0}^{\infty} \frac{t^{2n+2}}{(2n+2)!} (a^2 - b^2)^{n+1} \right].$$
(16)

# **3.1.** Solution in terms of hyperbolic trigonometric functions (a > b)

We have from (16) that

$$y(t) = \lambda \left[ 1 + (a+b) \sum_{n=0}^{\infty} \frac{(\sqrt{a^2 - b^2})^{2n} t^{2n+1}}{(2n+1)!} + \sum_{n=0}^{\infty} \frac{(\sqrt{a^2 - b^2})^{2n+2} t^{2n+2}}{(2n+2)!} \right]$$
$$= \lambda \left[ 1 + \frac{a+b}{\sqrt{a^2 - b^2}} \sum_{n=0}^{\infty} \frac{(\sqrt{a^2 - b^2})^{2n+1} t^{2n+1}}{(2n+1)!} + \sum_{n=0}^{\infty} \frac{(\sqrt{a^2 - b^2} t)^{2n+2}}{(2n+2)!} \right]$$
$$= \lambda \left[ 1 + \sqrt{\frac{a+b}{a-b}} \sum_{n=0}^{\infty} \frac{(\sqrt{a^2 - b^2} t)^{2n+1}}{(2n+1)!} + \sum_{n=0}^{\infty} \frac{(\sqrt{a^2 - b^2} t)^{2n+2}}{(2n+2)!} \right]$$
$$= \lambda \left[ 1 + \sqrt{\frac{a+b}{a-b}} \sinh(\sqrt{a^2 - b^2} t) + \sum_{n=1}^{\infty} \frac{(\sqrt{a^2 - b^2} t)^{2n}}{(2n)!} \right]$$
$$= \lambda \left[ \sqrt{\frac{a+b}{a-b}} \sinh(\sqrt{a^2 - b^2} t) + \cosh(\sqrt{a^2 - b^2} t) \right], \quad a > b.$$
(17)

# 3.2. Solution in terms of Mittag-Leffler functions

Here, it is noted that equation (16) can be written using the Gamma function in the form:

44

On the Exact Solution of the Functional Differential Equation ... 45

$$y(t) = \lambda \left[ 1 + \sum_{n=0}^{\infty} \frac{t^{2n+1}}{\Gamma(2n+2)} (a+b)^{n+1} (a-b)^n + \sum_{n=0}^{\infty} \frac{t^{2n+2}}{\Gamma(2n+3)} (a^2 - b^2)^{n+1} \right]$$
(18)

or

$$y(t) = \lambda \left[ 1 + (a+b)t \sum_{n=0}^{\infty} \frac{((a^2 - b^2)t^2)^n}{\Gamma(2n+2)} + (a^2 - b^2)t^2 \sum_{n=0}^{\infty} \frac{((a^2 - b^2)t^2)^n}{\Gamma(2n+3)} \right].$$
(19)

Using the definition of the two-parameter Mittag-Leffler function

$$E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)},$$
(20)

equation (19) takes the following final form:

$$y(t) = \lambda [1 + (a+b)tE_{2,2}((a^2 - b^2)t^2) + (a^2 - b^2)t^2E_{2,3}((a^2 - b^2)t^2)].$$
(21)

This last form can also be used to establish the solution in terms of trigonometric functions via some properties of the Mittag-Leffler functions. This point is declared below.

# **3.3.** Solution in terms of trigonometric functions (b > a)

Suppose that b > a. Then we can rewrite (21) as

$$y(t) = \lambda [1 + (a+b)tE_{2,2}(-(\sqrt{b^2 - a^2}t)^2) - (b^2 - a^2)t^2E_{2,3}(-(\sqrt{b^2 - a^2}t)^2)].$$
(22)

Applying the following properties:

$$E_{2,2}(-z^2) = \frac{\sin(z)}{z}, \quad E_{2,3}(-z^2) = \frac{1 - \cos(z)}{z^2},$$
 (23)

for  $z = \sqrt{b^2 - a^2}t$ , we have

$$E_{2,2}(-(\sqrt{b^2 - a^2}t)^2) = \frac{\sin(\sqrt{b^2 - a^2}t)}{\sqrt{b^2 - a^2}t},$$
(24)

$$E_{2,3}(-(\sqrt{b^2 - a^2}t)^2) = \frac{1 - \cos(\sqrt{b^2 - a^2}t)}{(b^2 - a^2)t^2}.$$
(25)

Substituting (24) and (25) into (33) and simplifying, we obtain

$$y(t) = \lambda \left[ \sqrt{\frac{b+a}{b-a}} \sin(\sqrt{b^2 - a^2}t) + \cos(\sqrt{b^2 - a^2}t) \right], \quad b > a.$$
(26)

It is easy to show that the solution (26) is periodic with a period equals  $\frac{2\pi}{\sqrt{b^2 - a^2}}$ provided b > a.

### 4. Special Cases

In this section, we aim to derive the exact solutions of the IVP (1) at some interesting special cases for the constants a and b such as a = 0, a = -b, and a = b.

**4.1.** *a* = 0

In this case, the IVP (1) reduces to

$$y'(t) = by(-t), \quad y(0) = \lambda.$$
 (27)

The solution in terms of trigonometric functions can be directly obtained by setting a = 0 into equation (26), and this gives

$$y(t) = \lambda[\sin(bt) + \cos(bt)], \quad b > 0.$$
<sup>(28)</sup>

**4.2.** a = -b

Let  $a = -b = \sigma$ . Then the IVP (1) becomes

$$y'(t) = \sigma(y(t) - y(-t)), \quad y(0) = \lambda.$$
 (29)

The solution of this case is directly obtained by substituting  $a = \sigma$  and  $b = -\sigma$  into equation (26), thus  $y(t) = \lambda$ . This constant solution satisfies the IVP (29),  $\forall \sigma \in \mathbb{R}$ .

### **4.3.** *a* = *b*

Let  $a = b = \mu$ . Then the IVP (1) becomes

$$y'(t) = \mu(y(t) + y(-t)), \quad y(0) = \lambda.$$
 (30)

On substituting  $a = \mu$  and  $b = \mu$  into equation (26), it is noted that the first term in the right hand side equals  $\frac{0}{0}$  which forces us to use L'Hospital's rule. This can be done as follows. Equation (26) can be rewritten as

$$y(t) = \lambda \left[ \sqrt{\frac{b+a}{b-a}} \sin(\sqrt{(b+a)(b-a)}t) + \cos(0) \right], \quad b > a$$
$$= \lambda \left[ \sqrt{2\mu} \lim_{b-a \to 0} \frac{\sin(\sqrt{2\mu}\sqrt{(b-a)}t)}{\sqrt{b-a}} + 1 \right]$$
$$= \lambda \left[ \sqrt{2\mu} \lim_{\varepsilon \to 0} \frac{\sin(\sqrt{2\mu}\sqrt{\varepsilon}t)}{\sqrt{\varepsilon}} + 1 \right], \quad \varepsilon = b - a \to 0$$
$$= \lambda (1 + 2\mu t), \tag{31}$$

where  $\lim_{\epsilon \to 0} \frac{\sin(\sqrt{2\mu}\sqrt{\epsilon}t)}{\sqrt{\epsilon}} = \sqrt{2\mu}t.$ 

### 5. Conclusion

In this paper, exact solutions were obtained for the functional differential equation y'(t) = ay(t) + by(-t) under the condition  $y(0) = \lambda$ . The standard series approach was applied to obtain the power series solution. The convergence of the series solution was addressed and proved. The obtained power series was successfully modified via some algebras and accordingly the exact solution was established. The exact solution was expressed in terms of elementary functions such as Mittag-Leffler functions, hyperbolic functions, and trigonometric functions. In conclusion, the current approach can be further applied on the full pantograph model y'(t) = ay(t) + by(ct),  $c \in \mathbb{R}$ .

#### References

- [1] H. I. Andrews, Third paper: Calculating the behaviour of an overhead catenary system for railway electrification, Proc. Inst. Mech. Eng. 179 (1964), 809-846.
- [2] M. R. Abbott, Numerical method for calculating the dynamic behaviour of a trolley wire overhead contact system for electric railways, Comput. J. 13 (1970), 363-368.
- [3] G. Gilbert and H. E. H. Davtcs, Pantograph motion on a nearly uniform railway overhead line, Proc. Inst. Electr. Eng. 113 (1966), 485-492.
- [4] P. M. Caine and P. R. Scott, Single-wire railway overhead system, Proc. Inst. Electr. Eng. 116 (1969), 1217-1221.
- [5] J. Ockendon and A. B. Tayler, The dynamics of a current collection system for an electric locomotive, Proc. R. Soc. Lond. A Math. Phys. Eng. Sci. 322 (1971), 447-468.
- [6] T. Kato and J. B. McLeod, The functional-differential equation  $y'(x) = ay(\lambda x) + by(x)$ , Bull. Amer. Math. Soc. 77 (1971), 891-935.
- [7] A. Iserles, On the generalized pantograph functional-differential equation, Eur. J. Appl. Math. 4 (1993), 1-38.
- [8] G. Derfel and A. Iserles, The pantograph equation in the complex plane, J. Math. Anal. Appl. 213 (1997), 117-132.
- [9] J. Patade and S. Bhalekar, Analytical solution of pantograph equation with incommensurate delay, Phys. Sci. Rev. 2 (2017). doi:10.1515/psr-2016-0103.
- [10] L. Fox, D. Mayers, J. R. Ockendon and A. B. Tayler, On a functional differential equation, IMA J. Appl. Math. 8 (1971), 271-307.
- [11] A. Ebaid, A. Al-Enazi, B. Z. Albalawi and M. D. Aljoufi, Accurate approximate solution of ambartsumian delay differential equation via decomposition method, Math. Comput. Appl. 24(1) (2019), 7.

48

- [12] A. A. Alatawi, M. Aljoufi, F. M. Alharbi and A. Ebaid, Investigation of the surface brightness model in the Milky Way via homotopy perturbation method, J. Appl. Math. Phys. 8(3) (2020), 434-442.
- [13] A. Ebaid and M. Al Sharif, Application of Laplace transform for the exact effect of a magnetic field on heat transfer of carbon-nanotubes suspended nanofluids, Z. Naturforsch. A 70 (2015), 471-475.
- [14] A. Ebaid, A. M. Wazwaz, E. Alali and B. Masaedeh, Hypergeometric series solution to a class of second-order boundary value problems via Laplace transform with applications to nanofluids, Commun. Theor. Phys. 67 (2017), 231.
- [15] A. Ebaid, E. Alali and H. Saleh, The exact solution of a class of boundary value problems with polynomial coefficients and its applications on nanofluids, J. Assoc. Arab Univ. Basic Appl. Sci. 24 (2017), 156-159.
- [16] H. O. Bakodah and A. Ebaid, Exact solution of Ambartsumian delay differential equation and comparison with Daftardar-Gejji and Jafari approximate method, Mathematics 6 (2018), 331.
- [17] A. Ebaid, C. Cattani, A. S. Al Juhani and E. R. El-Zahar, A novel exact solution for the fractional Ambartsumian equation, Adv. Differ. Equ. 88 (2021). https://doi.org/10.1186/s13662-021-03235-w.
- [18] N. O. Alatawi and A. Ebaid, Solving a delay differential equation by two direct approaches, Journal of Mathematics and System Science 9 (2019), 54-56. DOI:10.17265/2159-5291/2019.02.003.
- [19] E. A. Algehyne, E. R. El-Zahar, F. M. Alharbi and A. Ebaid, Development of analytical solution for a generalized Ambartsumian equation, AIMS Mathematics 5(1) (2019), 249-258. DOI:10.3934/math.2020016.
- [20] S. M. Khaled, E. R. El-Zahar and A. Ebaid, Solution of Ambartsumian delay differential equation with conformable derivative, Mathematics 7 (2019), 425.